C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

Wi
R TS

R13.796"
R13.851"

R 081" 0

055"

3.000
©
&2
938

1.200°

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999

TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

. " - FRANK BENNARDO, PE
GENERAL NOTES: COLONIAL SHUTTER PATENT #8126298 s A
1. THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT APPROVAL -0400 055"
. N ‘ #—

EVALUATION REPORT SUBMITTED FOR THE SAME PRODUCT APPROVAL. 3682 ® 348" 566" o —f ‘ e

2. THIS SYSTEM HAS BEEN TESTED AND EVALUATED IN ACCORDANCE WITH s
864 :
OUTSIDE THE HIGH VELOCITY HURRICANE ZONE, AND THE | R 4 N 090"~ | lygg- n :
INTERNATIONAL BUILDING CODE (IBC) AND INTERNATIONAL RESIDENTIAL j/ ot = § -~ | 5 Jz I Al ;2 : L% o~
: 326" Ao i /,f : 4
WIND WIND ZONE 4 AS DEFINED IN ASTM E1996. SEE EVALUATION 10 ~
REPORT FOR MORE INFORMATION. Y
n
THIS SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING IN [
ACCORDANCE WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS }
Ve =

PRESSURE CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS s A ~N SN 7 7

SHOWN.

ASTM E1886/E1996/E330. 1 )SCALE HALF SiZE 2 JSCALE HALF Sizi 3 )SCALE: HALF SIZE SCALE: HALF SIZE O )SCALE HALF SIZE
5. THIS SYSTEM HAS BEEN DESIGNED WITH NO SEPARATION FROM GLAZING

IS ACCEPTABLE BY CODE UNLESS OPTIONAL CRITERIA IS INDEPENDENTLY NN TN N

ADOPTED BY THE AUTHORITY HAVING JURISDICTION. . 050" oLS ey C A}ﬁ

PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR. L5 ~—r 1N
7. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF f 195" - oo 112

| [ LN

Date: 2020.08.12 21:25:47 PE# 0046549 CA#9885
EVALUATION AND SHALL ONLY BE USED IN CONJUNCTION WITH THE y 4 Qb7 y 139
s § 2.000"
2337 I L | 2
THE FLORIDA BUILDING CODE SEVENTH EDITION (2020), FOR USE <
CODE (IRC). THIS SYSTEM MEETS MISSILE LEVEL "D" AND INCLUDES 5 © ’ —
PN D 3 M 425" o )
| J [«
(@)
3. POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE WITH & J )
% m
SHALL BE LESS THAN OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN ! ‘ % L0
4,  TESTING WAS CONDUCTED IN ACCORDANCE WITH TAS 201/202/203 AND MUNTIN JAMB JAMB SNAP @ 4" CENTER CLIP COLONIAL BLADE
REQUIRED FOR WIND ZONES 1-3, IN ACCORDANCE WITH ASTM E1996. IT 105"
6. DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED pa 3.875 g
THESE PRODUCTS. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED N §

DEERFIELD BEACH, FL 33442

2.365"
2.280"

FOR WOOD ANCHOR DESIGN. ‘ | . .
8. DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN : 3 1.125 1458

REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE &

GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD |

CALCULATIONS IN ACCORDANCE WITH ASCE 7, A DIRECTIONALITY N ‘ y ‘

FACTOR OF Kd =0.85 SHALL BE USED. ~ \ o + Al
9.  THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE v 7 o

INFORMATION FOR A SPECIFIC SITE. 4L 120" X I g R oL £ 520 L i3
10. PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING . - — 910"

STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS. 4.510 v J, 590 J, Ve 7 I L 510"
11. ANCHORS SHALL BE INSTALLED PER MANUFACTURER RECOMMENDATIONS. |

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES STUCCO, FOAM, WALL HINGE HEADER / SILL () FLAT HINGE Q) BUILD-OUT WALL HINGE

BRICK, AND OTHER WALL FINISHES. 6 )SCALE MALE SI7E 7 )SCALE AALESI7E SCALE MALE Si7E S AT
12. USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER SCALE: HALF SIZE

61G15 OF THE FLORIDA ADMINISTRATIVE CODE. RS ~ N
13. THESE APPROVAL DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE 1000~ 3 000" 3 000" 1000"

CONTRACTOR PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM 1606 pa ¥ » v §e |

THE CONDITIONS DETAILED HEREIN AND THE CONTRACTOR VERIFIES s i ’ ~

THAT THE EXISTING STRUCTURE DOES NOT DEVIATE IN EITHER FORM OR : m

MATERIAL FROM THE STRUCTURAL SUBSTRATES DETAILED HEREIN. -
14. ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS . Q) O O | -~ O ¢!

WILL VOID THE APPROVAL DOCUMENTS. rr 190 0

S

#

|

..‘/ :
¥
2755

1510"
5
2625"
wJ
%

.1 621"
FL16219.1

NN

ADivision of ABC Supply Co., Inc.

400 WEST MCNAB ROAD

INDUSTRIES
FT. LAUDERDALE, FL 33309

Wholesale Aluminum and Building Products

S R —

x750"* 3.000" %750';,

2.190
2.000
6257
#

/

Town“Country

15. EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED WITH THE TYP pas
FOLLOWING MINIMUM INFORMATION: N ik 1 o
<

TOWN & COUNTRY INDUSTRIES =S ‘ ~
FORT LAUDERDALE, FL
9 LB MISSILE LEVEL D - ASTM E1886, E1996 & E330
TAS 201, 202 & 203 <
FLORIDA PRODUCT APPROVAL NUMBER 2

£.190"

1606" 8.000" 4.500"
16. ALL EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N., 2 : o e 7

WITH A MINIMUM Fy OF 25 K.S.I.
17. ALL BOLTS AND WASHERS (EXCLUDING INSTALLATION) SHALL BE = A : g

1.796"
STAINLESS STEEL WITH A MINIMUM TENSILE STRENGTH OF 60 K.S.I., ps | 4, w7 BAR - PROFILE & LAYOUT 5 4-1/2 "7" BAR - PROFILE

U.O.N. POP RIVETS SHALL BE 1/4"@ OR 3/16"@ 5052 ALUM. ALLOY. , ! e
SCALE: HALF SIZE SCALE HALF SIZE
ewa]l VISIT ECALC.I0/26168

18. MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION
PROVIDING WIND LOAD & IMPACT RESISTANCE = +57.2/-66.2 PSF FOR
ALL SHUTTER SYSTEM CONFIGURATIONS SHOWN HEREIN. =
A
A or i TR 4 FOR SITE SPECIFIC DEVIATIONS
- & MORE INFORMATION ABOUT THIS DOCUMENT
" TYpP OR SCAN THIS QR CODE

19. MAXIMUM ALLOWABLE DESIGN PRESSURE IN OPEN POSITION = +/- 28
VISIT ENGINEERINGEXPRESS.COM/STORE

PSF.
20. THIS SHUTTER SYSTEM SHALL NOT BE INSTALLED IN ESSENTIAL %
FOR ADDITIONAL PLANS, REPORTS & RESOURCES
NN e ~ LOCKING @ - !

FACILITIES AS DEFINED IN ASTM E1996.
1.000" 3.000" . 3000 1.000" . FLARED END EQ =
b3 # £ 7 i 7

21. SHUTTER ASSEMBLY MUST BE CLOSED AND SECURED AND SHALL NOT BE
in , , y COPYRIGHT FRANK L. BENNARDO P.E.
m 5072 1-ANCHOR
m S50 ( ) 080" - | Teosr 10" TO 20-26168
L 3 /‘;“f e 7

LEFT IN THE OPEN POSITION IN THE EVENT OF A WIND STORM EVENT.
190" C) O C) I m%\ 2 500" AE MIN 200" SCALE: - |
Vi ~ |
B |
L 3 N .

DATE

9/28/16
[RWN | 6/24/20

[12/20112
| 4116/15
' 8/07/17

FLB
TSB

RWN_|FLB
[RWN_|FLB

'DRWN|CHKD |
[

KL
RWN
B

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.

2 3
[
~
[

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
BENNARDO, P.E. ™* ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV ADD 4" BLADE

REMARKS
NIT ISSUE
014 FBC

]
[T
g

1188"

S

2.190"
2 000"

22. ALL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED OR PLATED. HURRICANE PROTECTION N f
N ) PAGE DESCRIPTION:

TO

1606" 8000"

VA 4 o — :

d « ANGLE 7 - S ] o L ‘

1796" L-PIN-1/4" @ = 3.250

e 120 7 1)SeALE HALF SizZE 6,2 SCALE : HALF SIZE (Q_ANCHOR)® "C" CLIPS L ) SECTION A J, E[I
SCALE . HALF SIZE

Va
1.188
%
~J
Ul
N
D
~J
ul
|
|
|
|
/j =
V4
1188
%
=
.



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

" FRANK BENNARDO, PE
P 500 y COLONIAL SHUTTER e R %0Es )
AR 1000 2.500"
T £ @OR SEE Z-BAR ANCHOR SCHED. FOR QORQ SEE Z-BAR ANCHOR SCI FOR
N ! 4 CONNECTION TO EXIST. STRUCTURE, TYP 5 CONNECTON TO EXIST. STRUCTURE, TYP
: ~ NI FOR ALL Z-BARS 850 P 7 FOR ALL Z-BARS
S 51: MAX DETAIL K - Max , DETAIL KE ~DETAIL £ o
> < S {LOR K1 — S — 7 —ORK1 - —/ﬁ ORM1 - — -
N 4 / N : [T ' / N ] 311 L
-~ 0 | | — NG = | — e i Ee—— O
e O :O% O \\ 5 v — l % \ ¢ L/ | v S N
= ) I in] [e]

I % % mgG0
oo B . < < Q06 : P — | Fre =R P
o () AT CENTEAR CLIP (1/8 THICK) > > [ v T = 4 | S 00~ 0> Ziy
O i | F H LF S N 9 ! ‘ ] ! M A X TR \ﬁn.m

DETA N
<5 0.128" B % 5)OR ' r—ﬁ} ‘ oﬁﬁi@/ ) 7.3 EACH SIDF 8m5§@§
i 0307, o > 5 | , f il OF CENTER Lz <24
EY) g 0.050" '0.307;;75" | | o] | I - . LINE o 1] % )
. s, O m w s
Lo ©0.155"- { 0.402" z S & z & ; ; & 85 %23
1 —E==1t1t < | TR < R
gg %\ — = =5 .. w0 UQ = -DETAIL L- wn OHE?EE
S @0.105"  \-R0.100" vl O ‘OR 4a F % 2 m E40)
+——1.792"——¢ \-R0.050" - © TN N - ).} 2 w FU4
. 2.118"- + ;) m X i T I | 7 oy L
©
hin @2{ BAHAMA BLADE t| &% L il
{ SCALE: HALF SIZE -0.260" w4 “u
16 ALTHINGEPIN. RO.08L"\ 0050 0521 NN i i NN~ ! L S -
SCALE: HALF SIZE M{///f’ S —— I8 s I | ! I % I {% S &
e o ,ﬁ:«—,:/flzl"%%%;RO.lOO" ~ — “ \ I — K *8 - ‘ \ = R §
R0.050" 507 ] RT3 : \ O T
+ -3.663" - MA X @ G‘} 9{;‘ MA X G‘} @ QF(\](RPO E
| -4.000" - 34.00" MAX 3L.00" MAX. 34.00" MAX 34.00" MAX 34.00" MAX. _
100 1708 100" r t £ #- ud Vi # # é MESE
11 , 096" m 4'BAHAMA BLADE _ _ . ; ; . L
1195 3 ' i W SEALE HALF 9171 )8 SHUTTER WIDTH = 68.00" MAX y ) SHUTTER WIDTH = 102.00” MAX / 8iag
(L VI - = og <&
) e (a TYPICAL ELEVATION 2 PANELS (®)! TYPICAL ELEVATION 3 PANELS ~" o8 O
. | N STAINLESS STEEL SCALE 1/27 = 17-0" SCALE: 1/2" 25 : @
= : [ 2= e = e
NG % o of ||| 3209 HOLE =z =
o624 || |s30] f»om” | 2 U N ( ! g 23
LU
1.069" 971" NYLON ' g b &
# «| - 050 RN \/,/ E 0«
L 12507 | 1200" 1100 VM WHEEL — £ =0
o s =5 52
PANEL TRACK 22 ) ROLLER ASSEMBLY (\OR e SEE Z-BAR ANCHOR SCHED. FOR < ¥
STALE: HALF SIZE SCALE HALE SIZE oo () /ESSNAEU\/O\JBTA%QX\ST STRUCTURE, TYP % 3 £
L vax ,DETAILK DETAIL \ E ’ R
(0)0RA SEE Z-BAR ANCHOR SCHED. FOR N i ORK1 F—# ORM1 Q S
oo 5 - / CONNECTION TO EXIST. STRUCTURE, TYP T/‘ ~¢ FET & =
MAX DETAILK _ ~DETAIL Q\ Ep FOR ALL Z-BARS G e ;ﬁ; :C ]
~ NSy ORK1  F=Ff ORM1 % —— ——— ! ¥ N r——
x{/ L r\; Al Ry i I ] ;,;T_: 1L ‘ ] ‘ 1
fffff = s ) i e X [ ‘ ‘
NG ‘Fﬂ |7 - - T R {2] ANCHORS REQ'D AT FACH WALL FINGE, < ‘ S e —
- T B SEE WALL HINGE ANCHOR SCHED. FOR b3 ‘ T v I . 4 3.00" SIS R
. — I — | CONNECTION TO EXIST. STRUCTURE I | . ‘ ‘ psleletg .82

g YONE : | P2 BRET 4 =\ DETAIL L | A $82853 i

< @/@N : v T ] ) = (5)or | | ,OR 4af?};3¢. 1| ‘ EACH SIDE 835888 |12

: . . || | 3.00 N (8) ‘ | v ‘ e OF CENTER ] 2558

n ~ @_\‘ -DETAIL L = | MAX I D S > : T «_};fjrﬂ}ff LINE g‘m‘(:,n’ m m‘g 1%58

o (&R —OR4aplp Sy | SO | | 1 — EACH SIDE 2 2 LA = Sz 2zalz | §iEk

o OM 1 L] 7 f{ T L |y OF [L \Wi R S — || — | | —BEAM SEE BEAM SCHED BEAM S zlzz g%é%

. ¢ | RN ' Y P oM Vo i 1/4-20 S.S. MACHINE SCREW INTO 1/4- i / MAY BE USED AT TOP OR BOTTOM, Ezlzz/8 1352

< i — | | ] tE x> ; - ALUMINUM RIV-NUT AT EACH VERTICAL—N\— | | OR 80T B %Egg

o - — ) - , g9

0 ) N . ~ ><‘ | ! 11} Eg:é:a

x 9> ol T4 ' 9 Edgy

w| Il o N | @ EE5e

: o\o>< N N Vo el | - N el |x §§L§

S I + v T TL1 222228 Iz:8

Il oy P éﬂi N §8§§

A} NN f"vJT"j I

_ L | | [ [ 1| COPYRIGHT FRANK L. BENNARDO PE.
NI x = R Fan i 850 j’“ X |
T 1| — ) } ' MAX ’@ Iy 20-26168
- et fe—— . “ " 2 o SCALE: - | -
T — Ly 36007 MAX 34,00 MAX 34.00" MAX 34007 MAX. :
U & ) 4 \—(100RrR(D) 7 * 7 PAGE DESCRIPTION:
Ss BHE Pk 0 B T i B 1 ey S OOTYMPAX SHUTTER WIDTH = 136.00" MAX / ;
d d * i 3EAM SPAN M
SHUTTER WIDTH = 136.00" MAX g 7 : 7 \
\ TYPICAL ELEVATION 4 PANELS Qi) TYPICAL ELEVATION WITH BEAM (2, 3, OR 4 PANELS)
Clscate 1727 - 1-0" SCALE: /2" = 1-0" )



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

CONNEC

HWH 410 H

REVERSED

TYPICAL TOP WALL MOUNT

E SCALE: 3" = 1"-0"

RIVETS OR (2}
POP RIVE

ESS S

F1 TYPICAL PANEL HINGE CONNECTION
SCALE 3" =1-0"

o TYPICAL CENTER CLIP CONNECTION
SCALE: 37 = 7=0°

INSTALLATION OF BLADES MAY BE

o 1 REVERSED

H#14x1" STAINLESS STE!
|| HEAD OR ROUND HEAD

@1 TYPICAL BOTTOM WALL MOUNT
SCALE: 3" = 1'-0"

SEE Z-BAR ANCHOR SCHEDU
[ION TO EXISTING STRUCTURE

7
¥, —ASSEMBLY SCREW SHAL
STAINLESS STEEL

XYLON COATING OR EQUIV

INSTALLATION OF BLADES MAY BE

(3) 3/16"® STAINLESS STEEL POP
17479 5052 ALUMINUM
IS, TYP.EAC

7/16"@ x 3-1/2" LONG

STAH\ STEEL BOLT
WITH NYLON LOCK NUT OR

ALTERNATE ALUMINUM PIN
[PART # 16)

NOTE

SMS FLAT

BANDING SHALL BE STUCCO OVER
CONCRETE, HOLLOW CONCRETE BLOCK OR
W0O0D TO PROVIDE SOLID BEARING
SURFACE

SEE Z-BAR ANCHOR SCHEDULE FOR
CONNECTION TO EXISTING STRUCTURE

£ FOR

100R(1Y)

ASSEMBLY SCREW SHALL BE #10 x 2"
HWH 410 HT. STAINLESS STEEL SCREW
XYLON COATING OR EQUIV

BE #10 x 2"
SCREW

INSTALLATION OF BLADES MAY BE
REVERSED

£ ALTERNATE TOP WALL MOUNT
SCALE: 37 = 17-0"

SIDE OF HINGE

INSTALLATION OF BLADES MAY B
REVERSED

BOL

MUNTIN EPLACES ANY {2) COLONIAL

BLADES

BLADES MAY BE
COLONIAL BLADES OR
ARTICULATING BLADES

#14x1" SS SM
COLONIAL BLADES SHOWN ON Y s Sts

! ENING MUNTIN
HIS PAGE. SEE SHEET 4 FOR Baaane
T'YPICAL ARTICULATING '
BLADE DETAIL
(4) 1/6-20x1" MACHINE SCREW INTD
1/4-20 ALUMINUM RIV-NUT %

ALTERNATE BLADE
SCALE

37 = 0

INSTALLATION OF
BLADES MAY BE
REVERSED

(L) 1/74-20 RIV-NUTS

#14x1" STAINLESS STEE
HEAD OR ROUND HEAD

SMS FLAT

ALTERNATE WALL MOUNT
TR

G2 SCALE: 37 =

3
°)  (OUTSIDE)

(2)-812x1/2" SMS

PER HINGE LS?”

INSTALLATION OF BLADES
REVERSED

176-20 S.S. MACHINE SCREW INTO 1/4-20
ALUMINUM RIV-NUT AT EACH VERTICAL

MAY BE

<L x |
R
2

-1/76"MAX. x 1-1/2"MAX
x0.062 MIN. ALUMINUM
ANGLE (CONT.)

6063 T5 ALLOY

\BEAM SEE

2 BEAM SCHI ELIGE s
(31 3/16”® STAINLESS STEEL POP e
RIVETS OR [2) 1/L7® 5050 ALUMINUM k) SIDE CLOSURE DETAIL
POP RIVETS, TYP. EACH SIDE OF HINGE SCALE: 37 =1-0
¥ ©
<
s Vs ©) (OUTSIDE)
o
o~ L | $
: \mw 3-1/2" LONG \ i
* x3-1/2" 10
= STAINLESS STEEL BOLT . A L1172 MAX. 0,062 MIN
0 WITH NYLON LOCK NUT OR _ ¢ ) -— ALUMINUM ANGLE (CONT )
ALTERNATE ALUMINUM PIN = 6063 T5 ALLOY
(PART # 16)
, 25"
— g Jé MAX
P | 7% i $ X ¥
Y | EDGE
\ DIST *
(")) TYPICAL TRAP MOUNT <) ALTERNATE SIDE CLOSURE DETAIL
SCALE: 3" = 1-0 A)EErrE S — 7
(OUTSIDE) (OUTSIDE)
‘ 3/16" 5052 ALUMINUM POP ‘
S — | RIVETS @ 24 0.0 MAX wa T —
2 -1/2 %‘ i > ﬁ ‘ <
rlszo | s | "gffu\ ] — _ |
. Yo OB <; CC o
3/4 7/ TYP . TV
5" MAX x1-1/2" x0 062 MIN 5MAX £0.062 MIN
> ALUMINUM ANGLE [CONT ) UMINUM PLATE (CONT )
6063 T5 ALLOY

—— ANY ANCHOR PER ANY
ANCHOR SCHEDULE AT 24

6063 5 ALLOY
0C \

@ SLIDING PANEL SIDE ALTERNATE CLOSURE DETAIL
NTS

SLIDING PANEL SIDE CLOSURE DETAIL
Kb)i T s

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

RTSTT.
EN

8810
Lo

'CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

FL16219.1

ry

e
Wholesale Aluminum and Building Products

Supply Co., Inc.

400 WEST MCNAB ROAD
FT. LAUDERDALE, FL 33309

INDUSTRIE
ADivision of AB

0

Town

| 9/28/16
| 8107117 |

|12/20/12]
[RWN | 6/24/20

FLB |

TSB | 4/16/15
RWN |FLB
'RWN [FLB
cB

[

KL

IDRWN|CHKD  DATE
'RWN

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV - ADD 4" BLADE

2017 FBC

REMARKS
INIT ISSUE
2020 FBC

2014 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

7/7167@ x 3-1/2" LONG

STAINLESS STEEL BOLT
WITH NYLON LOCK NUT OR .
ALTERNATE ALUMINUM PIN 50" oo — 50
(PART # 16) /@
50" 625
I T T 1T
) S ©® O+—%
@ OR @\ 5, N

50“?L7'

[2) ANCHORS REQUIRED AT EACH WALL
HINGE. SEE WALL HINGE ANCHOR
SCHEDULE FOR CONNECTION TO
EXISTING HOST STRUCTURE

k

% 625" A

{3) 3/16"® STAINLESS STEEL
POP RIVETS OR (2) 174"®
5052 ALUMINUM POP RIVETS,
['YP. EACH SIDE OF HINGE

[2) 5718

37 =1-0"

CK TYPICAL WALL HINGE
SCTALE

WALL HINGE ANCHOR
SCHEDULE:

TO 3192 PSI MIN. CONCRETE:

e 1/4" ITW SS TAPCON W/ 134" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE. Q

e 5/16" TTW TAPCON XL W/ 1-3/4"

MIN. EMBEDMENT AND 2-1/2" MIN.

#10 x 2" HWH 410 HT.
STAINLESS STEEL SCREW
XYLON COATING OR

EQUIV. WITH %" NYLON
END CAP & SPACER, TYP.

17/8" i
TYP

ITW TAPCONS AT EACH

50" A A 50
/ @ 625
ALTERNATE ALUMINUM PIN, M7 1] l N
6" LONG (PART # 16] ||| O :
I 2
%
— 50" \ | [
ll @ ! ] 6758 A

{30 3716"® STAINLESS STEE!
POP RIVETS OR (2) 1/4"®
5052 ALUMINUM POP RIVETS,
TYP. EACH SIDE OF HINGE

@OR@\

o
a L

GO"ﬂ\

WALL HING

@1 ALTERNATE STACKED WALL HINGE
SCALE: 37 = 1-0"

#10 x 2" HWH 410 HT.

50" fH# A~ 50"
/@
625"
ALTERNATE ALUMINUM PN, Dl oL
6" LONG (PART # 16) [ .
| (\ g
O m
g rh n N
THIRD HOLE LOCATION FOR O O 625
RIVET
)
[3) 3716”9 STAINLESS STEF 0|l
POP RIVETS OR (2) 17479 —
5052 ALUMINUM POP RIVETS,
TYP. EACH SIDE OF HINGE
Wi ALTERNATE STACKED PANEL HINGE
S Er 3 = 10"

1/16"® x 3-1/2" LONG
STAINLESS STEEL BOLT WITH

~(4] 1/6-20x1” MACHINE SCREW INTO NYLON LOCK NUT OR
STAINLESS STEEL SCREW
Sy OWESS STEEL 5C 1/4-20 ALUMINUM RIV-NUT ALTERNATE ALUMINUM PIN

(PART # 16)
EQUIV. WITH %" NYLON ) ,
END CAP & SPACER, TYP. e 010 ,V@ @X
\} O
. R

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

-
a
N
3
b J
[T
v ¢
Nfgé
=ifias
;0—3 <@
@2 O m
=D_g3 o m
aZ s m
SE1EE
Eame Z ~
o UH
s =<
v = [
Q-5 2%
= =20
= ¢
Z 83
o Y.
© o
Q@
S 2
-
= =

EDGE DISTANCE. L ‘ 0 ) 8
TO GROUT-FILLED CONCRETE BLOCK: 535" ~O S (3)3/16"¢ STAINLESS STEE ) O N "
OIVZII_I/|\£‘I" ENI%/YEADIBIE%%'TFA{Q%OZI\!1V/v2/"2|\_/|]I-/N4” j\ o POR RIVETS OR (2) T/»L”@ j j‘ NV
e L T e e
. y N
DISTANGE. | AND 4" MIN. EDGE 2147 TYPICAL 2* ARTICULATING LOUVER ATTACHMENT ( > TYPICAL 4" ARTICULATING LOUVER ATTACHMENT  TYPICAL GENTER GLIP (1) TYPICAL PANEL HiGE
TO G=0.42 MIN. WOOD HOST /bCA E:N.T.S CALE: N.T.S SCALE: 3 1'-0 SCALE = 1-0"
STRUCTURE:
e 1/4" LAG SCREWS WITH 1-1/2"
MIN. THREAD PENETRATION AND 3/4"
MIN. EDGE DISTANCE.
e #14 WOOD SCREW OR SMS W/
1-1/2" MIN. THREAD PENETRATION
AND 3/4" MIN. EDGE DISTANCE.
[3)3/16"® STAINLESS STEEL - f = &l §T
(QUTSIDE)  ~50p RiveTs oR (2] 17470 (OUTSIDE) /@ (OUTSIDE) SOLID SID = e o
o 5052 ALUMINUM POP RIVETS, %@_ﬁ /Q/w@(@
SOLID SIDE TYP. EACH SIDE OF HINGE SOLID SIDE %\ % [O ‘bW Y |
Gz TyCpNe) LSGED GO0, /  ces bog 7
ol b ; Foaeb L e o o
- < I ‘ > < > \ ‘ \Q
77777777777777777 ;77 - M4 M 37777777777 — e e ,L77577777777777777 ——
\ @_/73 BXO \%‘%m LOUVERED SIDE \T (OUTSIDE) (L) 1/£-20x1" MACHINE
SCREW INTO 1/4-20
LOUVERED SIDE LOUVERED SIDE (INSIDE) (4] 1/4-20x1" MACHINE SCREW INTO ALUMINUM RIV-NUT
(INSIDE) (INSIDE) 1/4-20 ALUMINUM RIV-NU
TYP|CAL PANEL H|NGE CONNECTION TYPICAL CENTER CLIP CONNECTION ALTERNATE CENTER CLIP CONNECTION SLIDING PANEL OFFSET CLIP
Pl)scare 37 - P2)scale 37 - 70" P2 E: 37 =7- @R S )

DATE
112/20/12
| 4/16/15
9/28/16
| | 8/07/17
|[RWN | 6/24/20

|FLB

|TsB
RWN [FLB
'RWN |FLB
cB

KL
RWN

DRWN CHKD
THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E, ™* ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV - ADD 4" BLADE

2017 FBC

REMARKS
INIT ISSUE
2020 FBC

2014 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:

loF

4



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

(N

MAX. [2) 1/4"x3"x3-3/L" 6063-T6
ALUMINUM HINGE PLATES TO ADJUST (OUTSIDE)

HINGE DEPTH
(OUTSIDE)
(OUTSIDE) o (OUTSIDE) . ) LOUVERED SIDE
p _ SOLID SIDE D

@”WQ ." 0° / sec zQ / £0p0 o\ : S@ ~~~~~~~~~~~~~~~~~~~
{\j\@\ % —E F\ “@\ L] \ \SDLUSDE

\ (INSIDE)
LOUVERED SIDE
INSIDE (INSIDE) HINGE AND HINGE PLATES TO PROVIDE
( ) \ . MAX. 174" GAP BETWEEN SHUTTER
_ HINGE AND HINGE PLATES TO PROVIDE ‘
—HINGE AND HINGE PLATES TO PROVIDE ‘

(INSIDE) 74
HINGE AND HINGE PLATES TO PROVIDE MAX 174" GAP BETWEEN SHUTTER AND STUCCO OR WOOD BANDING
MAX. 1/4" GAP BETWEEN SHUTTER MAX. 1/4" GAP BETWEEN SHUTTER AND STUCCO OR WOOD BANDING

AND STUCCO OR WOOD BANDING

AND STUCCO OR WOOD BANDING

{2) ANCHORS REQ'D AT EACH WALL HINGE ' [2) ANCHORS RED D AT LACH WALL HINGE DIs 7 {2) ANCHORS REQ'D AT EACH WALL HINGI 7

SEE WALL HINGE ANCHOR SCHED. FOR SEE WALL HINGE ANCHOR SCHED. FOR SEE WALL HINGE ANCHOR SCHED. FOR

CONNECTION TO EXIST. STRUCTURE CONNECTION TO EXIST. STRUCTURE CONNECTION TO EXIST. STRUCTURE
TYPICAL WALL HINGE CONNECTION ’2 ALTERNATE WALL HINGE CONNECTION N’S ALTERNATE WALL HINGE CONNECTION ’4 ALTERNATE WALL HINGE CONNECTION
SCALE: 3" = 17-0" ) @ SCALE: 3" =1-0" ) ( SCALE: 3" = 1-0" ) N SCALE: 3" =1-0"

USE 2X4X1/4 ANGLE FOR 3" & 4" BEAMS,
50% OF BEAM USE 2X5X1/4 ANGLE FOR 5" BEAWS.
WIDTH MIN , TYP. TOP AND BOTTOM OF BEAM

1/6-20 5.5 MACHINE SCREW INTO 1/4-20
ALUMINUM RIV-NUT AT EACH VERTICAL JAMB

500" Y
CL BOLT
CL ANGLES

BEAM SCHEDULE

WALL BRACKET ANCHOR TYPES ~ L

BEAM size |SHUTTER  BEAM | CONCRETE | HOLLOW | WOOD ) ] ~

SPAN SPAN (3323 PSI | CONCRETE (G=0.42 1

MIN) BLOCK MIN.)

8-1.75" | 60" AB,C | ABC B,C
2'x3"x1/8" o e ‘

6-8 6-8 AB,C AB,C B,C _
(6063-T6) 510" | 70" ABC | ABC B,C \ *

g175 75 | ABC | AC B,C B AN SC DMEW ? //%?
2'x4"x1/8" o "y EAM SCH

6-8 81 AB,C AC B,C

i e ; ' SPECIFICATIONS

(6083T6) | 5 q0n g AB,C AB,C B,C ; sl &5 e

§175° 88 | ABC AC B,C ¥ *A SPAN | f B
26’62;¥6 6-8" 95" A B,C A C B,C (1) 7/16"® MACHINE BOLT WITH L A==
(6063-T6) | 510" | 911" | ABC | AC | BC (2) ANCHORS REQUIRED EACH 1 g~ ) LOCK MU I8 > EDGE DISTANCE

8175 113" | AB,C c B,C AR e T MIN. A A 300" SEE BEAM SCHEDULE
f;égﬂ/g)" g 120" AB G c BC (SIDE VIEW) A NETOR SPERTE (FRONT VW) ANCHOR SPECIFICATIONS

5-10' 126" | ABC AC B, C TYPICAL WALL BRACKET CONNECTION DETAIL (CONCRETE & HOLLOW

SCALE 37 =1-0" - CONCRETE BLOCK)

ANCHOR TYPES FOR USE WITH BEAM
SCHEDULE, (4) ANCHORS PER BEAM END

A. 1/4" ALL POINTS SOLID-SET ANCHORS
FOR CONCRETE: 7/8" MIN. EMBEDMENT, 3" MIN. EDGE
DISTANCE, AND 3" MIN. SPACING.
FOR HOLLOW CONCRETE BLOCK: 7/8" MIN. EMBEDMENT, 3"
MIN. EDGE DISTANCE, AND 3" MIN. SPACING.

1/6-20 S.S, MACHINE SCREW INTO 1/4-20
ALUMINUM RIV-NUT AT EACH VERTICAL JAMB

B. 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT
MALE/FEMALE PANELMATE
FOR CONCRETE: 2" MIN. EMBEDMENT, 3" MIN. EDGE

DISTANCE, AND 3" MIN. SPACING. o ™ 2%4X1 /4 ANGLE OR 2X5X1/4 ANGLE.
FOR HOLLOW CONCRETE BLOCK: 1-1/4" MIN. EMBEDMENT, : jg T @%@ 6063-T6 ALUMINUM ANGLE, TYP. TOP
3" MIN. EDGE DISTANCE, AND 3" MIN. SPACING. 75 AND BOTTOM OF BEAM
FOR WOOD: 1-7/8" MIN. EMBEDMENT. 3/4" MIN. EDGE —1—
DISTANCE, 1.5" MIN. SPACING. P i -BEAM SPAN- -
. A= N Hw 125" MIN
C. 1/4"ITW TAPCON SG (FRONT VIEW) 150" EDGE DISTANCE
FOR CONCRETE: 1-3/4" MIN. EMBEDMENT, 2-1/2" MIN. EDGE WOOD) MN T SEE BEAM SCHEDULE
DISTANCE, 3" MIN. SPACING. e ANCHOR SPECIFICATIONS
CH IFICATIONS

FOR HOLLOW CONCRETE BLOCK: 1-1/4" MIN. EMBEDMENT,
2-1/2" MIN. EDGE DISTANCE, 3" MIN. SPACING.

FOR WOOD: 1-1/2" MIN. EMBEDMENT, 3/4" MIN. EDGE
DISTANCE, 1.5" MIN. SPACING.

FRANK BENNARDO, PE
PE# 0046549 CA#9885

‘CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

-

o

i

o

©

L |

-l

i\ u_
nw s
— 3

ES: nQ

:*“n_:g <

P2 Om

=D_gs o m

aZ 4 ma

- Z s

ke Uﬂ

& =<«

a

v = [

Q-5 &

<t

Z 385

s T .

© o
= 3
@
&S 2
K o
= =

[RWN | 6/24720

| o128/16
| 8i07/17

| 4116/15

[12/20112

FLB
TSB

RWN_[FLB
RWN_|FLB

B

[

DRWN|CHKD | DATE
'RWN

KL

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.

2017 FBC
020 FBC

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV - ADD 4" BLADE

REMARKS
INIT ISSUE
2014 FBC

NN

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

(R PLAN VIEW 1

SCALE: 1-1/2" = 1-0"

<S PLANVIEWZ
SCALE: 1-1/2" = 1-0"

Z-BAR ANCHOR SCHEDULE:

'TO 3350 PSI MIN. CONCRETE:

e 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT
MALE/FEMALE PANELMATE W/ 2" MIN. EMBEDMENT AND
2-1/2" MIN. EDGE DISTANCE.

e 1/4" ITW TAPCON SG W/ 1-3/4" MIN. EMBEDMENT AND
2-1/2" MIN. EDGE DISTANCE.

e 1/4" ALL-POINTS SOLID SET W/ 7/8" MIN. EMBEDMENT
AND 2" MIN. EDGE DISTANCE.

ITO HOLLOW CONCRETE BLOCK:
e 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT
MALE/FEMALE PANELMATE W/ 1-1/4" MIN. EMBEDMENT AND
2" MIN. EDGE DISTANCE.
e 1/4" ITW TAPCON SG W/ 1-1/4" MIN. EMBEDMENT AND
2-1/2" MIN. EDGE DISTANCE.
e 1/4" ALL-POINTS SOLID SET W/ 7/8" MIN. EMBEDMENT
AND 2" MIN. EDGE DISTANCE

|TO G=0.42 MIN. WOOD HOST STRUCTURE:

e 1/4" HANGER BOLT WITH 1-1/2" MIN. THREAD
PENETRATION AND 3/4" MIN. EDGE DISTANCE.

e 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT
MALE/FEMALE PANELMATE W/ 1-7/8" MIN. EMBEDMENT AND
3/4" MIN. EDGE DISTANCE.

e 1/4" ITW TAPCON SG W/ 1-1/2" MIN. EMBEDMENT AND
3/4" MIN. EDGE DISTANCE.

NOTE: USE (3) ANCHORS PER 8" Z BAR AND
(2) PER 4.5" Z BAR

INSTALLATION POSITIONS

{2) #14x1" STAINLESS

COLONIAL SHUTTER
CLOSED POQOSITION
o
Cj STEEL SMS
SEE SHEET 9 FOR ALL PLAN VIEW

(115716 [TW TAPCON XL

OR (2)1/6"® ITW TAPCON

OR (2} 17L"¢ SHEET METAL SCREW
OR [2) 1/L"® LAG SCREW

SEE ANCHOR SCHED. FOR MIN,
EMBED. & EDGE DIST

PLATE 0.090"x1"x3-1/2" WITH (2)

1/L"¢ RIV-NUTS (TOP & BOTTOM

OF PANELS]

CLOSED POSITION

OPEN POSITION LOCK

ANCHOR SCHEDULE:

WITH "C" CLIPS OR DOUBLE "C" CLIPS:

TO 2899 PSI MIN. CONCRETE:
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 2" MIN. EDGE DISTANCE.

TO 3192 PSI MIN. CONCRETE:
e (2) 1/4" ITW SS TAPCON W/ 1-3/4" MIN.
EMBEDMENT AND 1" MIN. EDGE DISTANCE.

TO HOLLOW CONCRETE BLOCK:
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE DISTANCE.

TO G=0.42 MIN. WOOD HOST STRUCTURE:
e (2) 1/4" WOOD SCREWS OR SHEET METAL SCREWS

W/ 1-3/4" MIN. THREAD PENETRATION AND 3/4" MIN.

EDGE DISTANCE.
e (2) 1/4" LAG SCREWS W/ 1-1/2" MIN. THREAD
PENETRATION AND 3/4" MIN. EDGE DISTANCE.

STEEL SMS

(1)5716"® ITW TAPCON XL

OR (20 1/4"® ITW TAPCON

OR(2) 174”9 SHEET METAL SCREW
OR (2) 17679 LAG SCREW

SEE ANCHOR SCHED. FOR MIN
EMBED. & EDGE DIST

WITH BULLET CLIPS:

TO 3192 PSI MIN. CONCRETE:
e (1) 1/4" ITW SS TAPCON W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE DISTANCE.

TO HOLLOW CONCRETE BLOCK:
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE DISTANCE.

TO G=0.42 MIN. WOOD HOST STRUCTURE:
e (1) 1/4" WOOD SCREWS OR SHEET METAL SCREWS

W/ 1-3/4" MIN, THREAD PENETRATION AND 3/4" MIN.

EDGE DISTANCE.

[2) #16x1" STAINLESS

{2) #16x7" STAINLESS
a é | Cﬁ STEEL SMS

115/16"® ITW TAPCON XL

OR (2)1/4"® ITW TAPLON

IIIOR (2) 1/4"¢ SHEET METAL SCREW
OR (2] 1/4"® LAG SCREW

SEE ANCHOR SCHED. FOR MIN

| 5 EMBED. & EDGE DIST

¥

(HINGES NOT SHOWN FOR CLARITY)

(DOUBLE "C" CLIP)

NOTE

(LIPS REQ'D TOP & BOTTOM FOR SPANS > 69" ONE CLIP REQ'D AT MID-SPAN (+3"] FOR

vy

SPANS < 69

X1 OPEN POSHION LOCK W/ "C" CLIP
SCALE: 37" = 10"

[2) #14x1" STAINLESS
STEEL SMS  ~

(157167 ITW TAPCON XL
OR [1) 1747 ITW TAPCON
OR 1) 1/L"® WOOD SCREW

SEE ANCHOR SCHED. FOR MIN
EMBED. & EDGE DIST

NOTE
BULLET CLIPS SPACED 24" MAX
FROM ENDS AND 48" 0.C. MAX

OPEN POSITION LOCK W/ BULLET CLIP

X2 SCALE: 3" =1-0"

<]

yial

il

(74

C

(SINGLE "C" GLIP)

LA

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

08/1 /f/(l@lﬁs

(ot it

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

-
o
L
o
(o}
L)
|
b LI_
nw g
i
=:f:ios
;0—3 <&
@2 Om
=D_g3 o m
aZ s mA
Z@m? =2 -
o Uﬂ
& Eg
! 1=
Q/" = ﬂg
ﬁ.g 53
Zz 853
s v
© o
@
S 2
-
= -

9/28/16
[RWN | 6/24720

'12/20/12]
| 4116115
| 807117

FiB
TSB

RWN_[FLB
RWN_|FLB

'DRWN|CHKD | DATE
cB

L
RWN
THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P E. ™ ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR CTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION,

REV - ADD 4" BLADE

2017 FBC

REMARKS
INIT ISSUE
2020 FBC

2014 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:

OF



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

i

vi[p

all 2

FRANK BENNARDO, PE
PE# 0046549 CA#9885

600" @
Tvp ,DETAILKN
c % ORK1 |

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

Tvp ,DETAILK \ DETAIL M o
e —orKl  [flormr [ ahS
[ R AR WA ' ]
\L"D}J’r ‘,\ \:E;Li 0 N L — —
N LA™ ol P2 _ - -
1= i
= T — Z G z o
% P1 G I v I _— i [— — .  S— o
I v | W T -
5 ! 2% @\ DETAILL — _
1\ DETAILL — - (6)oR— | |OR4a I\ | AL X3 bt 7
(6)0R~ OR 4a j%é 2 (®) A Zrafll i = ~
(&) ﬂw)ji\ - - (c: R & o
% | ol% [ | 7 U )
L-1u 2 Lo e L 9 | 5 Z Z
- Z — ()] [m]
— o ] o
5 n n
n X X
x < <
< v | > b
! > e -
) r= r~
~ o o
o
| Yopr Yy
[43] o= *Y?}:
T} N | ] =N
! Ny [ 600" \_®7‘ < -
A—@ \—@ - e 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDNG
37" SLIDING 37" SLIDING 34,007 MAX PANEL, MAX | | PANEL, MAX PANEL, MAX PANEL, MAX |
34.00" MAX 34007 MAX PANEL, MAX | PANEL, MAX 7 7
4 7 7
ELEVATION: 1 HINGED AND 2 SLIDING PANELS ELEVATION: 2 SLIDING PANELS
ELEVATION: 2 HINGED AND 2 SLIDING PANELS SCALE N.T.S SCALE NT S
SCALE N.TS
vip vip
r | [ 1
SLIDING PANEL TRACKS EXTEND
BEYOND FOR SHUTTER STORAGE
‘ IN NON-STRUCTURAL OPEN N
= POSITION, TYPICAL. pu
Z{(SIM) P2 Z U P2 z G
| B 4 | B 4 ] B = | v | . 4 =
“DETAILL — | o ~DETAIL L, a
"OR4a - (L L3 = L1, OR 4a%,.\ Vo W19 () (1) Y
7 | B < F77 <
T Y] ol e o
-, 7 Al U
- z - z
- o — =
n 2
X X
< <
> >
" =
o [o))
Ydt YdVE |
LY AY
— 7 —
37“ SLIDING 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDING

PANEL, MAX

PANEL, MAX

PANEL, MAX

PANEL, MAX

ELEVATION: 4 SLIDING PANELS

SCALE: N.T.S

NOTE: SLIDING PANEL
CONSTRUCTION SAME AS
HINGED PANELS

PANEL, MAX

PANEL, MAX

PANEL, MAX

ELEVATION: 3 SLIDING PANELS

SCALE N.T.S

-
a
-
o~
0
L
O
b u-
— L5
®8 2 o)
28
(83
P2 Om
=D_g'6 o m
a8 & m A
SHE Ik
-_ <ZLu~
o U_|
s =<
v = |_n€
L\/" E mm
ssr.g =5
Z 383
s T .
I s
3 3
@
©
S =
= =

12/20/12
4/16/15
9/28/16
8/07/17

RWN | 6/24/20

FLB

RWN |TSB
RWN |FLB
RWN |FLB

DRWN|CHKD | DATE
KL

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.

Cl
THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE

BENNARDO, P.E. ™* ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV - ADD 4" BLADE

REMARKS
NIT ISSUE
2014 FBC
2017 FBC
2020 FBC

COPYRIGHT-FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:

OF

[



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

- < FRANK BENNARDO, PE
//XN/[gO/Ré/PE/R/ e — T SLIDING PANELS CLIPPED PE# 0046545 CAS885
’  "LEGOUT" . —ALTERNATE LEG TOGETHER IN LOCKED POSITION
SLIDING PANEL DIRECTION D ‘
TRACK ANCHOR TYP | N
SCHEDULE - '
5 YiLalLh— | [ ' -
T 1/47-20 MACHINE SCREW W/ f - - ‘
NUTAT 12 0.C, TYP o . . <, .
. . ‘ N
+ AT \ : - - ‘ -3
T 1 T ' ‘ | | | s
O,I ‘erlj-'w \‘\ 0 [ r @ h\ Ul Il il [ | Emmsg
m) | e ] || e J ' G | co - gig
I W‘\‘/’ el | 2 iRl
5 R/ WHEEL CARRIAGE, TYP. mg U080 &
i il ' s =
1 T e ey = ‘Ags MBEAYR%*%E / ANTHORS pE [ 1/4-20 RIVNUT AT SLIDING PANEL LOCKING EDGE, << 5 SO
: J ] A “LEG ] AT EACH WHE PROVIDE 1/4-20 BOLT AND NUT IN FRONT O~MS 4
FROM EACH END AND g SLIDING PA!\ | CARRIAG! OF WHEEL CARRIAGE. BOLT SHALL GO ig ~SZ%
10.25"0C, TYP 7 TRACK ANCHOR THROUGH ANGLE AND TRACK TO HOLD e 9 aouw
/ T RA[K ANCHOR k / SCHEDUL ) f 1 == PANELS STATIONARY IN CLOSED POSITION. 8H w Ha 4
SCHEDULE 1/6-20 RIVNUT / 3 1l | =385
: =0
AT EACH WHEEL 7 T WHEEL CARRIAGE STOPS FOR SLIDING PANELS L83
CARRIAGE /.« b 2Z)scaL rs w F
I = o = =1 N 2N A : gu
L. I dddddddd e j‘ J : ] || ) 2%4x0 175 2 [a)]
# ANCHORS PE / oll | I ﬁi%mm“
H H H S ’ "LEG O UH n rw\vk 7 ‘ n :
7 SLIDING bAN: | [ AL v’ el
TRACK ANC 3 T pouv -
SEEN 2 heDuL WHEEL o
PRI A % \ CARRIAGE N
/ ; 174720 MACHINE ASSEMBLY AT A
| f »;» ;A}‘ = ™z SCREW W/ NUTAT 3" FROM EACH j
s o Nl 12°0.C., TYP 25" T e
J ) = | e < =3 < ]
‘ . S T e eE— m%‘_cj
———ALTERNATE LEG | — , ‘ . | ) =2
L= DIRECTION 1"x1"x0.062" MIN. JEMV ‘ § 1"x0.062" MIN. ALUMINUM ‘ = 33 ao
/ ALUMINUM ANGLE, s b PLATE, FASTENED TO PANEL e = y 8 8
FASTENED TO 7 WITH 3/16" 5052 ALUMINUM = = Ly 2 iy
PANEL WITH 3/16" POP RIVETS @ 24" 0.C. MAX g = 'g o0
) Y2 SLIDING PANEL BOTTOM TRACK 5052 ALUMINUM 7yt ANGLES WITH PLATES Q23§ o
SCALE: N.T.S POP RIVETS @ 24 235 <
0.C. MAX -5 6 u_lj
SLIDING PANEL TOP TRACK 7)) SLIDING PANEL INTERLOCK . & =g
T SCALE N.T.S ‘ £ @
SCALE N.T.S O\ = u;U}uDJ
/E =)
n n . n n .
"LEG IN" SLIDING PANEL TRACK ANCHOR SCHEDULE: LEG OUT" SLIDING PANEL TRACK ANCHOR SCHEDULE: ﬁ < 83
- < !
HoOST SLIDING PANEL VERTICAL SPAN HosT SLIDING PANEL VERTICAL SPAN % o [
ANCHOR i T - - —— = b
STRUCTURE 36" 48" 60" 72" 84" a7 STRUCTURE ANCHOR 36" 48" 60" 72" 84" a7 g
174" ITW SS TAPCONS W/ 1-3/4" MIN. | 1/4" ITW SS TAPCONS W/ 1-3/4" MIN. | Q =
EMBEDMENT AND 2-1/2" MIN. EDGE | 16" O.C. | 16" O.C. | 16"0.C. | 16"O.C. | 16"O.C. | 16" O.C. EMBEDMENT AND 2-1/2" MIN. EDGE | 16" O.C. | 13" O.C. | 10"0.C. | 9'0.C. | 7"0.C. | 6"O.C. =
CONCRETE DISTANCE | | | CONCRETE DISTANCE
(3192PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4" (3192 PSI MIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2' MIN. | 16" 0.C. | 16" O.C. | 16" O.C. | 16"0.C. | 16"0.C. | 16" O.C. MIN. EMBEDMENT AND 2-1/2" MIN. | 16"0.C. | 16"0.C. | 13"0.C. | 11"0.C. | 9"0.C. | 8" O.C.
EDGE DISTANCE EDGE DISTANCE
CONCRETE | /4" MILLENIUM MILLFAST W/ 1-3/4" CONCRETE | /4" MILLENIUM MILLFAST W/ 1-3/4" | ‘ Selens F 5.
(3500 PSI MIN.) | MIN. EMBEDMENT AND 2-1/2' MIN. | 16"O.C. | 16"O.C. | 16"0.C. | 16"0C. | 16"0.C. | 16"O.C. (3500 PSI MIN,) | MIN. EMBEDMENT AND 2-122' MIN. | 16" O.C. | 13"0.C. | 10°0.C. | 9"0C. | 7°0.C. | 6'0.C, ME2e=R 5.fs
EDGE DISTANCE ' EDGE DISTANCE 353388 3529
NI 141
1/4" MILLENIUM MILLFAST W/ 1-1/4" 1/4" MILLENIUM MILLFAST W/ 1-1/4" Qli L
MIN. EMBEDMENT AND 2-1/2' MIN. | 16"0.C. | 13"0.C. [ 11"O.C. | 9"OC. | 8"0.C. | 7"OC. MIN. EMBEDMENT AND 2-1/2'MIN. | 7"0.C. | 5"0.C. | 4"0OC. HEIE 3‘§ EEL
EDGE DISTANCE EDGE DISTANCE stz | gzég
1/4" ITW SS TAPCONS W/ 1-1/4" MIN. 1/4" ITW SS TAPCONS W/ 1-1/4" MIN. £ zz:z g E is
EMBEDMENT AND 2-1/2" MIN. EDGE | 15" O.C. | 12"'0.C. | 9"0.C. | 8"0.C. | 7"O.C. | 6"O.C. EMBEDMENT AND 2-1/2" MIN. EDGE | 6"0.C. | 4"0C. | 4'0C. | 3'0C. | 3'0OC. 222228 s5:2
DISTANCE DISTANCE T 1 T 1 %égg
HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4" HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4" E§§ 3
CONCRETE | MIN. EMBEDMENT AND 2-1/2"MIN. | 16"0.C. | 13"0.C. | 10"0.C. | 8"0.C. | 7"O.C. | 6"OC. CONCRETE | MIN. EMBEDMENTAND2-12'MIN. | 6"0.C. | 5"0C. | 4"0C. | 3"0C. | 3"0OC. w gggg
BLOCK EDGE DISTANCE BLOCK EDGE DISTANCE 3 EEE;
I o
5/16" ITW TAPCON XL W/ 1-3/4" MIN. 5/16" ITW TAPCON XL W/ 1-3/4" MIN. el | QEEE
EMBEDMENT AND 4" MIN. EDGE | 16"0.C. | 16"O.C. | 15"0.C. | 13"0.C. | 11"0.C. | 9"0OC. EMBEDMENT AND 4" MIN. EDGE | 10"0.C. | 7"0C. | 6'0C. | 5"0C. | 4"0C. | 4"0cC. z 22829 5328
DISTANCE. DISTANCE. R 22 gees
, ! , , HEERSERELHS
5/16" DEWALT ULTRACON W/ 1-1/4" 5/16" DEWALT ULTRACON W/ 1-1/4" HERFISHEEN
MIN. EMBEDMENT AND 3-1/8" MIN. | 16"0.C. | 16" O.C. | 16" O.C. | 14"0.C. | 12"0.C. | 10" O.C. MIN. EMBEDMENT AND 3-1/8" MIN. | 10"0.C. | 8"'O.C. | 6'0.C. COPYRIGHT FRANK L. BENNARDO P.E.
EDGE DISTANCE EDGE DISTANCE
1/4" LAG SCREW W/ 1-1/2" MIN. ‘ ‘ 1/4" LAG SCREW W/ 1-1/2" MIN. 20-26168
EMBEDMENT AND 3/4" MIN. EDGE | 16" O.C. | 16" O.C. | 16"'0.C. | 16"O.C. | 16"O.C. | 16"O.C. EMBEDMENT AND /4" MIN. EDGE | 16"O.C. | 14"O.C. | 11"0.C. | 10"0.C. | 8'0C. | 7"0OC. SCALE: - ] -
WOOD (G=0.42 DISTANCE | 1 . I WOOD (G=0.42 |_ DISTANCE | I i PAGE DESCRIPTION:
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2" MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2" -
MIN. EMBEDMENT AND 3/4" MIN. | 16"0.C. | 16"O.C. | 16"O.C. | 16"0.C. | 15"0.C. | 13" O.C. MIN. EMBEDMENT AND 3/4"MIN. | 13"0.C. | 10"0.C. | 8'0.C. | 7"0C. | 6"0C. | 5"0.C. -
EDGE DISTANCE. EDGE DISTANCE. ToF
NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND ‘
SLIDING PANEL VERTICAL SPANS FOR "LEG IN" CONDITION. ANCHORS SHALL BE LOCATED 2" MAX SLIDING PANEL VERTICAL SPANS FOR ALTERNATE "LEG OUT" CONDITION. ANCHORS SHALL BE
FROM TRACK ENDS. LOCATED 2" MAX FROM TRACK ENDS.
*ALL MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE *ALL MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE J



http://ecalc.io/26168

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

R PLAN VIEW 1
SCALE 1

/20 = 10" S

BANS

) PLANVIEW 4
U SCALE 1-1/2" =
zp

v

T-0"

Lo f S e CLOSED POSITION
w; - ,,,4 e ] —j | l {ﬁt;‘;yz@ T
¥Mf u@? T =1

PLAN VIEW 7

W SCALE: 1-1/2" = 1'=0"

08/11/2020 - 9:58pm

PLAN VIEW 2
SCALI

PLAN VIEW 5
SCALE

=172

1-1/2"

= 7'=0"

T-0"

SLATE 0.090"13-1/2" WiTH (2} 2| K, PLATE 0090'x7- 172

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

RN

O L .
CLOSED POSITION %\\ w CLOSED POSITION
N\

(T PLAN VIEW 3
' JSCALE: 1-1/2"

- —

1/76"® RIV-NUTS (TOP & BOTTOM i “7{%{2{% WITH (2) 1/4"¢ RIV-NUTS
OF PANELS) . ‘I,;}‘ (TOP & BOTTOM OF PANELS)
—— RS s T ‘
S’W == ==r \n/?.’é]smf =3 === \n;g % e r | Farara =| 3
= ‘ .
é T4 :9""’4,%% J$$ == M?w ‘/‘3 \F?UULJ % Loy ARSE L@d\m $ L JU\EJ

= 1-0"

‘CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

PLATE 0.090"x1"x3-1/2" WITH (2)
1/L"¢ RIV-NUTS (TOP & BOTTQOM
OF PANELS)

CLOSED POSITION
3%

JL /U\E@F

;Lalb&fg &%LDJ

RESNEA b —

CLOSED POSITION

N\

Y

PLAN VIEW 8

—
o
Ll
o
©
L |
|
b u_
v ¢
i
=ifioz
;0—3 <M
@2 O m
=D_g'5 o m
aZ s md
Z@m? =2 -~
kel Uﬂ
& Eg
! 1=
Q/"gg ﬂg
=5 g3
Z 383
s v
© o
@
S 2
-
= -

SCALE: 1-1/2" = 17-0"
2p
U S CLOSED POSITION
w Lﬁg ”l“/(?{/ - P T cv=s

< — JI | S N 2 S

AN

[RWN | 6/24/20

4/16/15
9/28/16

DRWN|CHKD | DATE
KL [FLB

RWN [TSB |

RWN [FLB

'RWN [FLB |

[12/20/12
8/07/17

o8

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV - ADD 4" BLADE

017 FBC

REMARKS
INIT ISSUE
2014 FBC

2

k=]
NN

=

OPYRIGHT FRANK L. BENNARDO P.E.

X PLAN VIEW 6
SCALE: 1-1/2"

20-26168

SCALE: | -

PAGE DESCRIPTION:

loF

9 |



http://ecalc.io/26168

	_DWG1_Page_1
	_DWG1_Page_2
	_DWG1_Page_3
	_DWG1_Page_4
	_DWG1_Page_5
	_DWG1_Page_6
	_DWG1_Page_7
	_DWG1_Page_8
	_DWG1_Page_9

		2020-08-12T21:25:47-0400
	Frank Bennardo




